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1.Which one of the following is NOT correct ?
a) One byte=8BITS b) One byte = 2 nibbles
c) Onenibble=4BITS d) One MB = 1024 bytes

2.Which one of the following is correct?
a) 1BIT =1nibble b)4BITS=2nibblesc) 8 BITS=1 byted) 1 MB = 1000 KB

3.Which one of the following is NOT correct ?
a) One Terra byte = 1024 kilo bytes b) 1 Mega byte = 1024 kilo bytes
c) One Mega byte = 1024x1024 kilo bytes  d) One Mega byte = 220 bytes

4.Which one of the following is correct ?

a) 1KB =29bytes b) 1 KB =22 pytes ¢) 1 KB = 2% bytes d) 1 KB = 2% bytes
5.Which one of the following equals one kilobyte ?

a) 220 bytes b) 2%° bytes c) 210 bytes d) 2% bytes

6.Which one of the following equals one Megabyte ?

a) 2*0 bytes b) 2%° bytes c) 220 bytes d) 210 bytes
7.Which one of the following equals one Gigabyte ?

a) 210 pytes b) 2%° bytes c) 230 bytes d) 2% bytes
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8.Which one of the following equals one Tera byte ?
a) 210 bytes b) 2%° bytes c) 20 bytes d) 2% bytes

9.Which one of the following equals one MB ?
a) 29KB b) 21°GB c) 2°TB d) 219 Bytes

10. Which one of the following equals one KB ?
a) 2'°KB b) 21°GB c) 2°TB d) 219Bytes

11. The smallest unit in computer memory is
a) Bit b)Byte c¢) Nibble d) Kilobyte

12. Which one of the following is NOT a characteristic of primary storage ?
a) Fast access time b) Small storage capacity
¢) Higher costs d) Lower costs

13. Which one of the following is a characteristic of secondary storage ?
a) Fast access time b) Small storage capacity
¢) Higher costs d) Lower costs

14. The time required to locate and retrieve data stored in adevice is called?
a) Storage time b) Accesstime c) Primary time d) Secondary time

15.Desirable characteristic of good memory device is?
a) Lesser storage b) Slower accesstime c) Faster accesstime d) High cost

16. How many states can be recognised by a computer ?
a) One b) Two c) Three d)Ten

17.Which one of the following is in ascending order?
a) MB - GB- Byte b)KB- MB - GB c) Byte- GB- KB d) GB- KB - MB

18. Which one of the following is in descending order ?

aGB-MB-KB b)KB-MB-GB c) GB - KB - MB d) MB - GB - KB
Key
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